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QUESTION 1

Which characteristic applies only to Business Intelligence as opposed to Data Science?
A. Uses only structured data

B. Supports solving "what if" scenarios

C. Uses large data sets

D. Uses predictive modeling techniques

Correct Answer: A

QUESTION 2

You submit a MapReduce job to a Hadoop cluster and notice that although the job was successfully submitted, it is not
completing. What should you do?

A. Ensure that the TaskTracker is running.
B. Ensure that the JobTracker is running
C. Ensure that the NameNode is running
D. Ensure that a DataNode is running

Correct Answer: A

QUESTION 3

Refer to the exhibit. In the exhibit, the x-axis represents the derived probability of a borrower defaulting on a loan. Also
in the exhibit, the pink represents borrowers that are known to have not defaulted on their loan, and the blue represents
borrowers that are known to have defaulted on their loan. Which analytical method could produce the probabilities
needed to build this exhibit?
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A. Logistic Regression
B. Linear Regression

C. Discriminant Analysis
D. Association Rules

Correct Answer: A

QUESTION 4

On analyzing your time series data you suspect that the data represented as y1, y2, y3, ..., yn-1, yn may have a trend
component that is quadratic in nature. Which pattern of data will indicate that the trend in the time series data is
quadratic in nature?
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A. (y3-y2) 2(y2-y1) = ......... = (yn-yn-1)-(yn-1-yn-2)
B. (y2-y1) = (y3-y2) = ....... = (yn-yn-1)

C. ((y2-y1) lyl) * 100% = .......((yn-yn-1)/yn-1) * 100%
D. (y4-y2) 2(y3-y1) = ......... = (yn-yn-2)-(yn-1-yn-3)

Correct Answer: A

QUESTION 5

In data visualization, what is used to focus the audience on a key part of a chart?
A. Emphasis colors

B. Detailed text

C. Pastel colors

D. A data table

Correct Answer: A

E20-026 VCE Dumps E20-026 Study Guide E20-026 Braindumps

E20-026 VCE Dumps | E20-026 Study Guide | E20-026 Braindumps 4/4


https://www.pass4itsure.com/e20-026.html
https://www.pass4itsure.com/e20-026.html
https://www.pass4itsure.com/e20-026.html
http://www.tcpdf.org
https://www.pass4itsure.com/e20-026.html
https://www.pass4itsure.com/e20-026.html
https://www.pass4itsure.com/e20-026.html

